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QUESTION 1

In an environment with a large amount of dynamic SQL, which subsystem parameter should be adjusted to increase the
amount of memory available for caching statements in the global dynamic statement cache?

A. EDMPOOL
B. EDMDBDC
C. MAXKEEPD
D. EDMSTMTC

Correct Answer: C

QUESTION 2

A member of a DB2 data sharing group (DB2A) has failed and is currently down. After a few minutes the phone starts
ringing and people complain that transactions accessing table space TSA (in database DBA) get an SQLCODE -904
because of retained locks held by the member that just abended.

What is the recommended way to resolve this problem?

A. -START DB(DBA) SP(TSA) ACCESS(FORCE)

B. Restart the failed DB2 member with the LIGHT(YES) option.

C. Delete all the failed persistent connections to the lock structure with the
SETXCFFORCE,CONNECTION,STRNAME=lock_strname.CONNAME=ALL command and force the deallocation of the
lock structure by issuing SETXCFFORCE,STRUCTURE.STRNAME=lock_strname

D. Issue the MODIFY irimproc.PURGE. DB2A command from an IRLM that is used by a DB2 member that is still
running.}

Correct Answer: C

QUESTION 3

Program Authorization does NOT work in which environment?
A. IMS

B. CICS

C. DSN command processor

D. Programs that run in stored procedure address spaces

Correct Answer: C
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QUESTION 4

Which combination of subsystem parameter values will enable connection pooling for idle distributed database access
threads?

A. Specify subsystem parameter CMTSTAT = ACTIVE and set CONDBAT = MAXDBAT.
B. Specify subsystem parameter CMTSTAT = INACTIVE and set CONDBAT

C. Specify subsystem parameter CMTSTAT = ACTIVE and set CONDBAT > MAXDBAT.
D. Specify subsystem parameter CMTSTAT = INACTIVE and set CONDBAT >MAXDBAT.

Correct Answer: C

QUESTION 5

You wish to set the maximum allocation of sort storage to 5000 kilobytes for a query that contains an ORDER BY
clause.

Which action will accomplish this?

A. Set subsystem parameter MAXRBLK to 5000.

B. Set subsystem parameter MAXSORTJNJV1EMORY to 5000.
C. Issue command-ALTER BUFFERPOOL(BP7) VPSIZE(5000).
D. DB2 does not allow for user control of this maximum allocation.

Correct Answer: B
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